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SHANS FEIISHH A 477,834 30,000 447,834
401 AIEHI L 20 477,834 30,000 447,834
01 A& HI 477,834 30,000 447,834
OEXNMY & 20U S 477,834
=g ASD|E &= 24,537,872 21,803,343 2,734,529
= 592,031
J| 11,722,181
< 2,731,415
s 9,492,245
dEdsd 54 3,754,196 3,375,129 379,067
= 298,633
J| 40,520
< 179,169
s 3,235,874
AEdsgef? XA 10,368 2,304 8,064
201 249 4,608 2,304 2,304
01 At 22l 4,608 2,304 2,304
OZfX S&l 8,000 «6H 1200 2«8 4,608
202 O4dl 5,760 0 5,760
01 = LH o4 1l 5,760 0 5,760
OHBASAAD =X 27
20,0003 «6H x 1204 & x4 5,760
e KRIIH MEBHER X2 32,000 32,000 0
307 glz2tol & 32,000 0 32,000
02 It M AHE X 32,000 0 32,000
OXEFARIBHTHBHS X sXM X &
3,555,550& x10ha*90% 32,000
HEXE A 350,000 300,000 50,000
402 RI2EX20| M 350,000 300,000 50,000
01 2I2F 2 A B (KM ) 350,000 300,000 50,000
OHEX A A 100,000& *7,000CH x50% 350,000
ENEH XA 450,760 150,448 300,312
= 284,250
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307 glz2tol & 450,760 150,448 300,312
= 284,250
< 73,183
s 93,327
02 IZtE M AHE X 450,760 150,448 300,312
OELMEHM X 2,780.3& %125,900% 350,040
= 233,890
< 58,075
s 58,075
OE2LMEH &=d XA 800& 125,900 100,720
= 50,360
< 15,108
i 35,252
SIEHEX 2 (HEAY) 2,048,701 2,065,254 A 16,553
307 glz2tol & 2,048,701 2,065,254 A 16,553
02 It M AHE X 2,048,701 2,065,254 A 16,553
O®JIZdlzg XA 1,699.67& %1,205,3521%L 2,048,701
cE=g 2435 EHadE XJAAY 400,000 400,000 0
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Oxg=sg 435 gEHaz X
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FIsS TN 5,957 10,500 A 4,543
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s 3,574
307 gl2tol & 5,957 10,500 A4,543
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[ia 3,574
02 IZHE M AHE L 5,957 10,500 AN4,543
ORI =L (=S, SIIXMH) X
595, 700& «20ha*50% 5,957
= 2,383
s 3,574
gFEsE s X3 AL 44,820 26,400 18,420
< 13,446
s 31,374
307 gl2tol & 44,820 26,400 18,420
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- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
= 7,161
= 16,709
OREHASAES ISHIE NI (KRIIIZBAE)
1,000,000 x204 &~ 2,000
& 600
= 1,400
OREZSM2 ASHIE NA(HST)
550,000 *304 &~ 1,650
& 495
= 1,155
NEtAsME RFEAH OHAHE NRAY 35,200 52,494 N 17,294
== 10,400
= 24,800
307 2Iz2to| A 35,200 52,494 N 17,294
== 10,400
= 24,800
02 QIZFAAAIE E X 35,200 52,494 N 17,294
08l = =4 0
OAHIX XEE s=NHEgeEs 0
O==20tHE X 0
OXsAEAsMZE RSAH OHAE K&
40,000,000 =10 A *88% 35,200
& 10,400
= 24,800
EH U= B4 KNSFAY 5,400 5,500 A 100
& 1,620
= 3,780
307 giztol A 5,400 5,500 A 100
& 1,620
= 3,780
02 QIZ2IA AAIE E X 5,400 5,500 A 100
Orlzd s|Ud=s2 s41E
5,400,000& *1JH & 5,400
= 1,620
= 3,780
TEASAME S20UYS 41 54,400 40,000 14,400
& 34,000
= 20,400
402 IV X201 & 54,400 40,000 14,400
& 34,000
= 20,400
02 CIZEXIEAIS X (0| XM THL) 54,400 40,000 14,400
OFsHA=SME BE202S s64XH
68,000,000 =14 2~ *80% 54,400
& 34,000
= 20,400
GAP Ot M 24 XIS 24,000 27,000 A 3,000
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o 2,016
201 L4 2,880 0 2,880
< 864
s 2,016
01 At 2t 2l 2,880 0 2,880
OZEZ=sd JI=3E BESAMY
10,0003 30 «120H & +80% 2,880
< 864
e 2,016
asMg =4 1,420,386 1,862,500 AN442, 114
= 3,534
< 279,770
s 1,137,082
Fegz eyl (XXA) XA 3,534 3,114 420
= 3,534
201 ¢er24| 3,534 0 3,534
= 3,534
01 At 22l 3,534 0 3,534
OFSR2LR 42 XX 3,534
= 3,534
RAelE H4EME X 530,280 530,280 0
402 RI2EX =20l A 530,280 530,280 0
01 U2 E2ALE X (KA R) 530,280 530,280 0
ORXelE AEME XA (S ALH) 530,280
—&E 3,000& *8B0XE +2,038.33ha*90% 440,280
—OHE 500& *4000H *500ha*90% 90,000
M n¥s FSIXNE AtY 293,632 293,632 0
307 21201 A 293,632 293,632 0
02 HAFHAANFEE 293,632 293,632 0
OGM nd=s S2XE ALY
3, 100& %118, 4004¢ Xt x80% 293,632
A WA 255,540 470,000 A 214,460
< 127,770
e 127,770
301 LEEAS 78,540 141,800 A 63,260
< 39,270
e 39,270
12 JIE 243 78,540 141,800 A 63,260
MAYM DAY (NBSE R SBAAY)
200,000 *392.7ha 78,540
< 39,270
e 39,270
402 RIZER 20l A 177,000 328,200 A 151,200
= 88,500




SN SEMRED
=9 ASIIY &HE
el wAY B4 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 88,500
02 U EALEZ(0IETHR) 177,000 328,200 A 151,200
OXZHH HAML(=EEAY) 0
OXZ™ WAMS(AMZHSAIL)
295,000,000 *60% 177,000
< 88,500
[ia 88,500
NEE T4 TAAME 35,000 35,000 0
307 21201 A 10,000 10,000 0
02 QIAFAAFEX 10,000 10,000 0
O& 4 EHiHl XI& A
4,000% *5,00021 *50% 10,000
402 RIZFXt20l ™ 25,000 25,000 0
01 RIZEXt2 AL E = (REATH &) 25,000 25,000 0
OMZZIH X3 A 50,000,000& *50% 25,000
BAHote & @A =X 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
OFAIl= & A 20,000,000& =13l 20,000
LAUNS (=EtHE)ZHE HMOAY 182,400 180,000 2,400
< 152,000
s 30,400
307 glz2tol & 2,400 0 2,400
< 2,000
s 400
02 P HAHEE 2,400 0 2,400
ORYEMN(=3) MSE X&
4,000, 0003 =14 2~ *60% 2,400
= 2,000
s 400
402 BI2FX=201 M 180,000 180,000 0
< 150,000
i 30,000
02 QI EAIS EZ (01X S) 180,000 180,000 0
OgAxAZ(=CaE) 28 MDD
300,000,000& =1 2 «60% 180,000
< 150,000
e 30,000
O=S&gxdcld Ald Szt 100,000 0 100,000
402 2I2H X201 M 100,000 0 100,000
01 2I2F 2 A B (RERITH ) 100,000 0 100,000
OZ33HI=0 M= =T Z& X 100,000
sds& 24A XA 16,821,998 13,925,907 2,896,091
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 11,471,650
< 1,753,065
= 3,597,283
sZAde=g =4 3,257,684 1,270,809 1,986,875
< 1,303,074
s 1,954,610
101 @14 Hl 13,792 13,764 28
< 5,517
s 8,275
04 JIZHHZ2XREE S 13,792 13,764 28
Osg Bd=g JI2HMZ 22X & E=Hl 13,792
= 5,517
i 8,275
201 Let24d] 4,492 3,285 1,207
< 1,797
[ia 2,695
01 At 22l 3,292 3,285 7
Osgl B+ AIR2eld] 3,292
< 1,317
e 1,975
02 =224l 1,200 0 1,200
O=sgl B+ AIAH | E=H
100,000 1200 & 1,200
< 480
i 720
301 LEEHZ 3,239,400 1,253,760 1,985,640
< 1,295,760
s 1,943,640
12JEEd= 3,239,400 1,253,760 1,985,640
S0l ZAdxE 243 600,000& *5,399H 3,239,400
< 1,295,760
[ia 1,943,640
led 24 2E3 11,207,000 10,320,000 887,000
J| 11,207,000
301 LPENF 11,207,000 10,320,000 887,000
J| 11,207,000
12 JIE24 3 11,207,000 10,320,000 887,000
OJled 3849 A== 11,207,000
J| 11,207,000
28 29 A=3(=2Hl) 1,582,342 1,582,342 0
301 LA F 1,582,342 1,582,342 0
12 J|EH2 & 2 1,562,342 1,582,342 0
OZAEAEM NS (24l)
597,110& 2,650ha 1,582,342
led SAXNFZEA=S M SFH| 47,650 32,454 15,196




FN: sEMssSH
o =Y ASI|E HE
S9l: SesE BUX AN (ol @)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Il 47,650
101 1244 dl 28,170 27,554 616
| 28,170
04 DIt 22 XREES 28,170 27,554 616
OJISE3YXEN B2 ol
69,7603 *57.687L+x7HEH 28,170
| 28,170
201 LBH2E| 14,800 4,900 9,900
| 14,800
01 At 2t 2l 14,800 4,900 9,900
OZXEM HARIAS 298 S 14,800
| 14,800
202 oddl 4,680 0 4,680
| 4,680
01 = LH 4 1l 4,680 0 4,680
OZX=N R+ ST 0 4,680
| 4,680
== BEBA XJAAL (Z4l) 397,716 415,047 A 17,331
< 397,716
301 LBEAZ 397,716 415,047 A 17,331
< 397,716
12 J|EHE4 = 397,716 415,047 A 17,331
OEsgad8rxE3(T)
116,632&*3,410ha 397,716
< 397,716
s (=012%) ME3 217,000 218,500 A 1,500
J| 217,000
301 LENF 217,000 218,500 A 1,500
| 217,000
12 J|EtE &= 217,000 218,500 A 1,500
Ogd=sg(=012%) 23 500,000& *434ha 217,000
| 217,000
SBsHXNEH SH X (HHB ) 6,050 1,603 4,447
= 1,815
s 4,235
201 £B-2dH| 6,050 0 6,050
< 1,815
s 4,235
01 At 22l 6,050 0 6,050
OLZsHA=ZM LR AR 22/t 6,050
< 1,815
s 4,235
gsHdANES (T ) 93,868 82,560 11,308
< 46,934
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LB MAXA 142,500 142,500 0
402 2I2H X201 M 142,500 142,500 0
01 2I2E 2 A B (RERTH ) 142,500 142,500 0
OLEHAMAIEY XA 142,500
—Sg2F 7,000,000& *302 *50% 105,000
—s&Es A 3,000,000& »25CH x50% 37,500
20 YHUSHES |S4X Y 305,000 305,000 0
402 RI2FX=0l M 305,000 305,000 0
01 2IZEH 2 A B (KR ) 305,000 305,000 0
OsHE S35 sdX& 305,000
— ANE&F THHY XI& 15,000
—SXHA Mo K& 40,000
— 20| THHHAIE XI& 100,000
— =g THHHAIE XI& 80,000
— 0F THHHAIE XI& 70,000
NEE 2O X& 115,200 115,200 0
402 RI2HXt20l ™ 115,200 115,200 0
01 2IZt Xt 2 AL E = (REM &) 115,200 115,200 0
O IHEH X2 A 288& +800,000m" x50% 115,200
SR MAD|IBE A=A 956 3,960 A 3,004
< 796
s 160
402 RI2EX 20| ™ 956 3,960 A 3,004
< 796
[ia 160
02 QI E2AIE EZ (OIS ) 956 3,960 A 3,004
OLXHa MatDlg R= 1,593,000& *60% 956
< 796
[ia 160
OIATHEE AIE X & 76,635 103,635 A 27,000
402 RI2EX=20| A 76,635 103,635 A 27,000
01 2IZEH 2 A B (KM &) 76,635 103,635 A 27,000
OQIATHEN AIE XN XI&(2022.1.1.~6.30.)
1,703& %90,000 m" x50% 76,635
NEG2A 222 XA 70,000 110,000 40,000
402 2I2HAHE01 M 70,000 110,000 A 40,000
01 2I2E 2 A B (KR ) 70,000 110,000 A 40,000
OAM&ESI2A B XA
40,000& *3,500m" *50% 70,000
L PN |8 X2 A 30,000 30,000 0
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02 QI EASEZ (OIS ) 28,950 0 28,950
OSEXE NLESEUS (24 28,950
J| 11,580
[ia 17,370
NHESS=2 HEotA NJAY 279,600 229,165 50,435
< 233,000
[ia 46,600
402 RIZ2HXt20l ™ 279,600 229,165 50,435
< 233,000
e 46,600
02 RIZEXt 2 AL EZ (01X TS ) 279,600 229,165 50,435
OAl&oteA XX 279,600
< 233,000
s 46,600
S MAY SA(SIOIHIE HE) A 64,349 113,796 NAQ,447
< 53,624
s 10,725
402 RI2EX 20| ™ 64,349 113,796 NA49,447
< 53,624
i 10,725
02 QI 2 A EZ (01X TH ) 64,349 113,796 NA49,447
OJHZZ olOIHE He K& 64,349
< 53,624
i 10,725
AS RS SHAY 150,000 200,000 A 50,000
402 RI2EX=201 A 150,000 200,000 A50,000
01 2I2EH 2 A B (KM &) 150,000 200,000 A 50,000
OAIZ 30l MaAE X
150,000,000 *2.0ha*50% 150,000
DE=HIOE THHHAIE XI&AHS 47,297 39,078 8,219
J| 18,919
< 8,513
s 19,865
402 RI2FX=201 M 47,297 39,078 8,219
J| 18,919
< 8,513
s 19,865
02 QI EALEZ (OIS ) 47,297 39,078 8,219
ODFHIJLHSE THHHAI & XI & 47,297
J| 18,919
= 8,513
[ia 19,865
HHR2IZH (sFARFES) 125,028 23,502 101,526
Jl2Z3l 125,028 23,502 101,526
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N sFU4FSH
o HYLYAH (SHLRSD)
e Jl=3l (&)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
Jl=23dHl 125,028 23,502 101,526
201 £et23E | 45,236 11,982 33,254
01 At 22l bl 44,036 11,382 32,654
O=AEXN 7Y 25,300 x10=r A+ 1200 & 3,036
Ou=l= 165,000& 1201 & 1,980
OSAI Xt = 660,000& 1201 & 7,920
oneEs7Y 30,000 +20 1201 & 7,200
O=M=7Y 50,0008 x12& 600
O&F=J & SIN&EFI ez
65,0003 1271 2 +50, 000 1274 = 1,380
O=gHl (022X 8,000 »20H « 1201 & 1,920
OAMEY 0IE & 425 2¢ 20,000
02 S3=29Hl 1,200 600 600
oRER= 50,000 1201 & 600
Oostle=s 50,0003 1271 & 600
202 o4 4 3,192 7,200 24,008
01 =LHOIHI 3,192 7,200 24,008
OFM2dg =Uul
20,0002 19 =124 2 +0.7 3,192
203 2R =AY 6,600 4,320 2,280
03 Al FXH =AY 3,000 0 3,000
OANHZ=THRFAHI| 3,000
04 FEAN2SERFAH| 3,600 3,600 0
OFANE23E AL 3,600
405 Ab&HF SHI| 70,000 0 70,000
01 AL ESFH SH 70,000 0 70,000
ozEXE 7 50,000,000& » 14| 50,000
OAME4A 0IEE Tttt & 25 7Y 20,000
NRES(S5M4RED) 2,000,000 0 2,000,000
WEAHH X = 2,000,000 0 2,000,000
WEHH X2 2,000,000 0 2,000,000
02J1=8ES 2,000,000 0 2,000,000
01 JI=sd8&E=2 2,000,000 0 2,000,000
Oz sdtE 33 II=s &4 2,000,000
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